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- splice (startlndex:int, deleteCount:uint, ... values)

myArray.splice (myArray.indexOf (Object) ,1)
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var gameTimer:Timer; i 4/”//5(//’

gameTimer = new Timer (3000,1) ;
gameTimer.addEventListener (TimerEvent.TIMER,gameTimer) ;

gameTimer.addEventListener (TimerEvent.TIMER COMPLETE, gameTimerComplete) ;
gameTimer.start() ;

public function gameTimerComplete (event:TimerEvent) {

}
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gameTimer = new Timer (20) ;
gameTimer .addEventListener (TimerEvent.TIMER,gameTimerTic) ;
gameTimer.start() ;

public function gameTimerTic (event:TimerEvent) ({
goombaMC.x = goombaMC.x + 5;
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goombaStartPos = goombaMC.x;

gameTimer = new Timer (20) ;

gameTimer .addEventListener (TimerEvent.TIMER,gameTimerTic) ;
gameTimer.start () ;

public function gameTimerTic (event:TimerEvent) ({
goombaMC.x = goombaStartPos +
( (gameTimer.currentCount/gameTimer.repeatCount) *300) ;
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function Lesson9 () {

stage.addEventListener (KeyboardEvent.KEY DOWN, handleKeyDown) ;
}

function handleKeyDown (event:KeyboardEvent) :void ({
switch (event.keyCode) {

case 37: // left
goombaMC . x=goombaMC . x-5;

break;

case 38: // up
goombaMC . y=goombaMC.y-5;

break;

case 39: // right

goombaMC . x=goombaMC . x+5 ;
break;

case 40: // down
goombaMC . y=goombaMC . y+5;

break;
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function Lesson9 () {
stage.addEventListener (KeyboardEvent.KEY DOWN, handleKeyDown) ;
stage.addEventListener (KeyboardEvent.KEY UP, handleKeyUp) ;

gameTimer = new Timer (20) ;
gameTimer.addEventListener (TimerEvent. TIMER,gameTimerTic) ;
gameTimer.start () ;

}

function handleKeyDown (event:KeyboardEvent) :void {
currKey = event.keyCode;

}

function handleKeyUp (event:KeyboardEvent) :void ({
if (event.keyCode == currKey) ({
currKey = NaN;
}
}

public function gameTimerTic (event:TimerEvent) ({
switch (currKey) {
case 37: // left
goombaMC . x=goombaMC . x-5;

break;
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var keysDown:Array;
function Lesson9 () {
keysDown = new Array() ;
stage.addEventListener (KeyboardEvent.KEY DOWN, handleKeyDown) ;

}

function handleKeyDown (event:KeyboardEvent) :void {
if (keysDown. indexOf (event.keyCode) == -1) {
keysDown.push (event.keyCode) ;

}
}

function handleKeyUp (event:KeyboardEvent) :void ({
keysDown. splice (keysDown.indexOf (event.keyCode) ,1) ;}

public function gameTimerTic (event:TimerEvent) ({
for (i=0; i<keysDown.length; i++) ({
var currKey = keysDown[i];
switch (currKey) {
case 37: // left
goombaMC . x=goombaMC . x-5;

break;
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shootMC.hitTestObject (enemyMC)

DX true DX "IX'712 )V N'TON NTIRON -
false X7 DN ,0'991N D'OP"AIRN




rbRih

Side Scrolling
'0'02 Shooter

Gradius :NN2AIT?

TIX |'RY 2D
,D7W pnwn 2IndY
112220 NX 71 X7N
'0'01N PNYNn




rRiih

wUnn? DN pan -
7NV ¥ Np7n nyvinn =
N'NNITIN DR DY -

NYAID 2'INN 7W '™ OXL|[7NYWA DN 2IRN 7Y -
7091 XIN [N

TAYIN XIN YA91 2'INN DX , AN DN 20 [pnwn =
NI7'091 T A'¥N7 Y =

http://www.youtube.com/watch?v=bUPWWAul2EY4 .1 Y'an YI7YJ|YJ -



http://www.youtube.com/watch?v=bUPWWuI2EY4

D'NTPNNY

|9INQ DIPNA AT 'Y 7V DAYIRN DX N'TAN -
INDITIN

NIN"NN NN 0DIXT? 19'01N =
TAX 7¥1 2100 NP TAN7 10) -
TAX 2'IX AION NI Y Tan7 10] -




